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18.496 49.2 58.614 194
21.850 35.6 54.520 27.4
27.820 39.6 49.500 21.0
31.475 29.6 45.572 29.4
36.670 33.2 40.820 26.4
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20.292 101.982
29.558 92.646
38.940 83.410
47.818 74.700
57.525 65.211
66.210 56.630
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92.912 29.340
102.330 20.199
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_40.672 + 45.760 + 49.818 + 54.514 + 59.660 — 18.496 — 21.850 — 27.820 — 31.475 — 36.670
B 25
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o = 0.0023 mm (3)
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oy = ,/(%05%)2 x 5 = 0.000 20 mm (4)

PR 5 = (4.56222 £ 0.000 20) mm
P v = fo) = 38.93 x 4.56222 x 2 = 355.214m/s
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K A = (4.58 £0.05) mm

(9)

WPEIEE: 2 DR AR AR B R I T iR /N SRR, IR

2f7R

A
x:—gn—l—b:kn—l—b

é, 5 k= —-4.5532Tmm r = —0.999372107

x/mm
60 §

50
40
305—
205—

10|

K 20z —n &PEXRK

FERARH & JE -
KAME:

Ok,A = —k r2 = 0.057 mm
n—2

KH x

e 0.004
V3 V3 —4
O p = = =3.6 x 107" mm
B 10 Va1.25
S (i — 5.5)2

i=1

(10)

(12)



FAUR A AR A2

o = \/fm = 0.06 mm (13)
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A v =(355+£3)m/s
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PARAEME: A = (9.065 £ 0.019) mm
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= 0.019 mm (24)
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0 0.3192P,

22.2 0.3192 x 2676.6 x 44
:%L%x¢ﬂ+ )1+ X X 447,
273.15 752.2 x 133.182 (26)

= 331.45 x 4/1.0813 x 1.00375
= 331.45 x 1.041804
= 345.306 m/s
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